(f' ck=60N/mm?)

@ 2.5m Pl-¢ 3m

T

P1

PC3

PC

45

A2

Al A2
P2

105-8007
980-0801
980-0801

(€))

Al-

24000

100

850 22050

78000

74050

I
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3 1
1-2-3 S
1-4-7
1-4-7
45
60 / ?
176.0m
22.05m+78.0m+74.05m
9.5m
10160
455 9250 455

10160




No.3

-1 -2
-3 No.1
-3 No.2
30
No.3 0
FEM
I =
< C )
[ §
/,, ﬂ\\ 3.16(g/cm®)
FEM ) 2.70+ 0.02(g/cnt)
( ) 2.80+ 0.15
JL ) 2.60+ 0.02(g/cm®)
( ) 3.00+ 0.20
\_ — J 2005 2.74+ 0.02(g/c?)
] |
59.0+ 2.0(%)
Ve =~ B\ ( )
No.1,2
| . ( )
JE AE No.3
( )
o m )
4 C -3
:) or (cm)
_3 No. 30 60 90
(@) No.1 16.0
W/C
30 No.2 54.5 30.5 %0
No.l 3
90
No.3 62.5 | 55.0 | 58.0 | 63.5
No.2
-1
s/a (kg/m°)
No. %) (cmy | (%) ) 1 2
4.5+ x 0.73 %
No.1 30 5 18 | 530 15 160 | 533 | 446 | 447 | 792 | . oo ka/ir
4.5+ x 0.90 %
No.2 30 50c 53.7 15 165 | 550 | 446 | 445 | 767 4.95 kg/m
4.5+ x 1.10 %
No.3 30 60cn 53.0 15 170 | 567 | 432 | 432 | 767 6.24 Ko/
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No.1 No.2
1
No.3
2.4m
-5
No.3
t11 2 :12
1 5.8 2 3.7
1 2 14
P2 w/m ) 2.7
m .
3
567kg/m Girke ) |15
(kg/m®)  [2371
1 2 Q. :70.04( ) y :0.920
Qi/m ) 114 14 5 14
3 1 7 7
2 7 7
(N/mm?) |F*c(t)=t/(0.0193+0.01332% t)
(N/mm?) 10.44x  frc(t) ©°°
@ (t)x 4700x  f c(t) °°
(mmy|@ ® 0.73 £ 3 () 1.00 5 ¢t
0.20
0.175mm 10
(CHAD)
£ "as(t)=y £ "as, [1-exp{-a(t-ts)"}]
€ "as(t) t
x 107
@ y 1.0
u € "as, x 107
5.5m € "as, 3070exp{-7.2 W/C }
) w/c
ts 0
1.5 (
) W/C=30% a=0.60,b=0.50
4
2
1/4 1/4
15000 12000
5500 T
S _— 2400{ || —
B | | |
3250 5500 3250 50 5500 3250
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-4

160

@
a)
b)

&)

8.5N/mm? C)

2

2

1 10.5N/mm

©)

793kg

1,883kg

®

5.5%

D

90

-6

8.5 N/mm?

793kg

g
d

10.5 N/mm?

1,883 kg
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(cm)

-4
€))
3 50cm -4
a) -
? 4.5cm
3
16
Om
b)
60+ 10cm
AE
70cm 2 60cm
-7
No. 1 2
1.5
15.5% 5 5 6 5
Ei .5m ) ‘
Y - s J‘ | é. [ y i;l
> = 0 i
2.4m =
90
(
90
)
3
5.5
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90

(h m)

d

©)

55

PC

5.5cm

2008 1

15

2009 3

750

PC
2008

D

2)

pp. 170-171, 2007.9

3)

pp. 51-67,

103

2000.3

-5
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